Efficiency vs. dz (PV)

[_Efficiency (tracking eff factorized out) vs. dz (PV) ]

< 01 1.
g A
5 = F
s0. s T
S 5
30.07 > o8k
é & o8f
£0.06 5 I
z k] 13
50.05 £ osf
£0.04 F
+= 0.
u 0.4f-
0.2+
| ST T FITE DU PR P
) g+
I T
@ o
0% 701 02z 03 04 05 06 0% oI 0z 03 04 05 06
Cut on dz(PV) (cm) Cut on dz(PV) (cm)
—=— /.JCMSSW_13_2_X_2023-05-08-2300/src/DQM_TT__mKkFit-DQM_new132
| Fake rat{ —*— DQM_TT__mkFit-DQM_newfast132
S 0.1: S O.S:
a S S S a E
5 (J.09E ] N o07F
5 0.08F 5 E
Sk < osf
00.07:— o F
£0.06 £ 05p
o s
©0.05 S 0.4fF-
e F S F
I_<EOAO4E— g 0.3F-
0.03f E
E 0.2
0.02F E
0.0 : oy
E i i i i i oE i i i i i
99 : o =0 :
I T
@ 24
0% ——01 02 03 04 05 06 09901 0Z 03 04 05 06

Cut on dz(PV) (cm)

Cut on dz(PV) (cm)



	Contents
	Page 1


